
052570-019r2 1 January, 2018 

Full Length
Twist Lock M6 Washer M6 Nylock Nut

M6 Square Nut
(x3)

1/4 x 3/4 Screw

M6 x 20 Screw
(x3)Mounting Bracket

Neoprene Strip

BS0019b

-118→ (x4) (x10) (x14) (x4)
-157→ (x5) (x12) (x17) (x5)
-177→ (x4) (x15) (x19) (x4)
-197→ (x5) (x15) (x20) (x5)

 

INSTALLATION 
FREEDOM RM ADAPTOR BRACKETS

KIT NO: BS0019 
SPRINTER EXTENDED LENGTH BRACKETS

USED WITH OEM MOUNTING RAILKits 

PACKAGE CONTENTS: 
 

 

 

 

 

 

MOUNTING THE BRACKETS 
The bracket is pre-drilled for the rear mounting screws that go through the roof and support cross members.  Some 
OEM’s may have preinstalled threaded inserts in the required locations. 

1. Remove the release paper from the neoprene strip and attach to the rear bottom face of the bracket.  Trim for best fit. 

2. Loosely attach the twist lock studs, flat washers and nylock nuts in the front holes of the bracket. 

 

3. From one end of the track, slide the 
brackets onto the rail with the twist lock 
fasteners inside the rail. 

4. Position the bracket on the roof.  Align the 
rear slots with the threaded inserts in the roof. 

5. Tighten the nuts for the twist lock fasteners. 

6. Secure the brackets to the roof using 1/4 x 
3/4 screws and flat washers. 

7. In the rear track of the mounting brackets, start three (3) M6 x 20 screws and square nuts through the retaining 
screw holes (these are marked with an “*” in the above illustration).  Do not tighten at this time. 

8. Mount the awning according to the installation manual for the awning. 

BS0019c

* = Retaining Screw Location (x3)
◘ = Twist Lock Location

Align Holes with the Threaded Inserts (x15)

Align Holes with the Threaded Inserts (x12)

Align Holes with the Threaded Inserts (x10)

4 meter

5 meter

Align Holes with the Threaded Inserts (x15)

4.5 meter

3 meter
(x4)

(x5)

(x4)

(x5)

BS0019d

Twist Lock Stud
M6 Nylock Nut
& Washer

Neoprene Strip

1/4 x 3/4 Screw
Flat Washer

M6 x 20 Screw (x3)
Square Nut (x3)
Do Not Tighten


